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Note:- This paper is of Eighty (80) marks divided into three 
(03) Section A, B and C. Attempt the question contained in 
these sections according to the detailed instructions given 
therein. 
uksV%& ;g iz'u&i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ 
[k.Mksa d] [k rFkk x esa foHkkftr gSA izR;sd [k.M esa fn, 
x, foLr`r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA 

 

Section-A ¼[k.M&d½ 

(Long Answer Type Question) ¼nh?kZ mÙkjksa okys iz'u½ 

Note:-  Section ‘A’ contains four (04) long-answer-type 

questions of Nineteen (19) marks each. Learners are 

required to answer any two (02) questions only.

                  (2×19=38) 
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uksV%& [k.M ^d* esa pkj ¼04½ nh?kZ mÙkjh; iz'u fn;s x;s gSaA 
izR;sd iz'u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 
f'k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz'uksa ds mÙkj 
nsus gSaA 

1. The Copyright is a bundle of right. Discuss and 
explain the works in which copyright subsists. 

dkWihjkbV ,d vf/kdkjksa dk lewg gS foospuk 
dhft,A mu dk;kZs dks le>kb, ftlesa dkWihjkbV 
jgrk gSA 

2. Explain the various kinds of marks under trademarks 
Act, 1999. 

O;kikj fpUg vf/kfu;e] 1999 ds vUrxZr fofHkUu 
izdkj ds fpUgks dh O;k[;k dhft,A 

3. What persons are entitled to apply for patents? What 
rights are confessed on a patentee? What rights are 
confessed on a patentee under the patent Act, 1970?  

,DLo vf/kdkj izkIr djus ds fy, dkSu&dkSu ls 
O;fDr gdnkj gS\ ,dLo vf/kfu;e] 1970 ds 
vUrxZr ,d ,dLo/kkjh dks D;k vf/kdkj iznku fd;s 
x;s gS\  

4. Write a long note on protection of database in India. 

Hkkjr esa MsVkcsl dh lqj{kk ij ,d foLr`r fVIi.kh 
dhft,A 
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Section-B ¼[k.M&[k½ 

(Short Answer Type Question)@¼y?kq mÙkjksa okys iz'u½ 

Note:-  Section ‘B’ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer any four (04) questions only. 

 

uksV%&  [k.M ^[k* esa vkB ¼08½ y?kq mÙkjksa okys iz'u fn;s 

x;s gSaA izR;sd iz'u ds fy, vkB ¼08½ vad 

fu/kkZfjr gSaA f'k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ 

iz'uksa ds mÙkj nsus gSaA 

1. What is patent office? 

 isVsUV dk;kZy; D;k gS\ 

2. What is an ‘Inventive Step’? 

* vkfo’dkj”khy * mik; D;k gS\ 

3. What is WIPO? 

WIPO ¼foiks½ D;k gS\ 
4. How domain name can be registered? 

Mksesu uke fdl izdkj jftLVªM fd;k tk ldrk gS\ 

5. Explain the development of ‘Law of Patents’ at 

international level. 

vUrjkZ’Vªh; Lrj ij *isVsUV fof/k* ds fodkl dh 

O;k[;k dhft,A 
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6. Define infringement of Copyright. 

izfrfyI;kf/kdkj ds vfrya?ku dks ifjHkkf’kr dhft,A 

7. What are the objectives of Trade mark? 

O;kikj fpUg ds mn~ns”; D;k gS\ 

8. Discuss the legal status of domain name. 

Mksesu use dh fof/kd fLFkfr dh foospuk dhft,A 

Section-C ¼[k.M&x½ 

(Objective Type Questions) / (oLrqfu"B iz'u) 

Note:-  Section ‘C’ contains ten (10) objective type 

questions of One (01) mark each. All the questions 

of this section are compulsory.   (10×1=10) 

 

uksV%&  [k.M ^x* esa nl (10) oLrqfu"B iz'u fn;s x;s gSa] 

izR;sd iz'u ds fy, ,d (01) vad fu/kZfjr gSaA bl 

[k.M ds lHkh iz'u vfuok;Z gSaA 

 

1. Copyright subsist in the following work. 
 (a) Literacy work (b) Artistic work 
 (c) Musical work (d) All of the above 

dkWihjkbV@izfrfyI;kf/kdkj fuEufyf[kr esa fdl 
dk;Z esa jgrk gS\ 

 (a) lkfgfR;d dk;Z (b) dykRed dk;Z 
 (c) laxhrkReddk;Z (d) mijksDr lHkh 
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2. In order to be patentable an Invention should be:- 
 (a) New or novel  
 (b) Should involve inventive step 
 (c) Capable of industrial application 
 (d) All of the above 

isVsUV ;ksX; gksus ds fy, ,d vfo’dkj gksuk pkfg,% 
 (a) u;k ,oa uohu 

(b) vkfo’dkj”khy mik; lfEefyr@vUrxZLr 
gksuk pkfg;sA 

 (c) vkS/kksfxd mi;ksx ;k miHkkstu esa leFkZ 
 (d) mi;qZDr lHkh 

 
3. Which of the following is not patentable in India? 

 (a) Machine  
(b) Process 

 (c) Composition of matter 
 (d) A business method 

fuEufyf[kr esa dkSu lk isVsUV ;ksX; ugha gSa\ 
 (a) e”khu   

(b) izfØ;k 
 (c) inkFkZ dh jpuk 
 (d) dkjksckj dk rjhdk 

 
4. Which is a remedy for infringement of copyright in 

India? 
 (a) An Account of Profit 
 (b) An Injunction 
 (c)   Damages 
  (d) All of the above 
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fuEufyf[kr esa dkSu lk izfrfyI;kf/kdkj ds mYya?ku 
dk mipkj gS\ 

 (a) ykHk ys[kk 
 (b) ,d O;kns”k 
 (c) {kfriwfrZ  
 (d) mi;qDr lHkh 

 
5. Which of the following is/are the right of patentee 

under Patent Act? 
 (a) Right to exploit the patent 
 (b) Right to surrender 
 (c) Right to assign the patent 
 (d) All of the above 

fuEufyf[kr esa dkSu lk isVsUV vf/kfu;e ds vUrxZr 
isVUVh dks iznr vf/kdkj gS\ 

 (a) issVsUV dk mi;ksx djus dk vf/kdkj 
 (b) vH;iZ.k dk vf/kdkj 
 (c) isVsUV ds leuqns”ku dk vf/kdkj 
 (d) mi;ZqDr lHkh 

 
6. Which of the following is not considered by the 

registera to determine whether a Trade mark is well 
known trademark? 
(a) That the trade mark has been used in India 

 (b) That the trade mark is registered 
 (c) That the application for registration  

(d) All of the above of trademark has been filed 
in India. 
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fuEufyf[kr esa ls lqfo[;kr O;kikj fpUg ds fu/kkZj.k 
ds fy, jftLVªkj fdls vko”;d ugha le>rk gS\ 

 (a) fd O;kikj fpUg dk Hkkjr esa 
 (b) fd O;kikj fpUg jftLVªhd`r gS 
 (c) fd Hkkjr esa O;kikj fpUg ds jftLVªhdj.k ds  

fy, vkosnu nkf[ky dj fn;k x;k gSA 
 (d) mi;qZDr lHkh 

 
7. Duration of the registered trade mark in India is:- 

 (a) Twenty Years  
(b) Five Years 

 (c) Ten years and can be renewed on  
Payment fees  

 (d) Twenty Five years 
Hkkjr esa jftLVªhd`r O;kikj fpUg dh vof/k gSA 

 (a) chl o’kZ   
(b) ik¡p o’kZ 

 (c) nl o’kZ rFkk Qhl dk Hkqxrku djrs gq;s  
uohdj.k djk;k tk ldrk gS  

 (d) iPphl o’kZ 
 
8. The patent Act was passed in the year 

 (a) 1970  (b) 1999 
 (c) 2005  (d) 2013 

isVsUV vf/kfu;e fdl o’kZ esa ikfjr fd;k x;k Fkk\ 
 (a) 1970  (b) 1999 
 (c) 2005  (d) 2013 
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9. In which of the following place head office of 
trademark registry is situated? 

 (a) Delhi  (b) Chennai 
 (c) Mumbai (d) Kolkata 

fuEufyf[kr esa ls fdl LFkku ij O;kikj fpUg  
jftLVªh dk iz/kku dk;kZy; fLFkr gS\ 

 (a) fnYyh  (b) psUubZ 
 (c) eqEcbZ  (d) dksydkrk 

 
10. Distinctiveness is the essential feature of a trademark. 

         (True/False) 
lqfHkUurk O;kikj fpUg dk vko”;d y{k.k gSA 

     ¼lR;@vlR;½ 
 
 
 

***** 


